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STOP SEXUAL ABUSE!

STOP! RUN! TELL! REPORT!

STOP SEXUAL ABUSE! £ STOP TOUCHING ME! [

v ‘\"TALKTO PARENTS
- AND EDUCATORS

IT IS EVERYONE’S RESPONSIBILITY TO
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Which measuring instrument will you use to measure volume?

&
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1. Colour the measuring cups that will make 1 litre

"l Srerererer
b’ = = = = =
- ’ Think carefully when you look

at these diagrams in Question
C. r— r— r— —— — 2. Remember 0 litres (empty)
is the bottom of the jug. What
' W’ W’ W’ mark is next to the liquid @
level? In the first one it is the
d —. — — — — mark between the 9 and 10
: N Iy B Iy = Iy = Iy = Iy litre marks - so it is 93 litres or 9
litres and 500 ml.
_\\
e. - - - — - \\ \
Oy AXTEY7 TN N |

2. How much cool drink is in the measuring jug?

a.

v 8 8 10 9%



3. Will you use ml or £ to measure the following?
a. n b. C.
d. @ e. i'l f.

4. A teaspoonful (or teaspoon) is a unit of capacity used in cooking and medicine.
a) How many ml does a teaspoonful hold?

b) How may teaspoonfuls will 20 ml be? %’

The jug holds
1e.

5. Waseela used 2 ¢ of water for making tea and coffee and 60 ¢ of water for doing

her washing and 3 ¢ of water for washing dishes. How much water did she use
altogether?

Collect some newspapers or junk mail.

Find 10 items for which measurements are given in ml.

18 18 17 18 19
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‘ 66 1’ Mere capacity

Look at the pictures and answer the questions below. Note that the pictures are not
to the same scale.

- m 2 I
-
8 ¥ L

| o - [

1. Which container do you think contains the largest amount of liquid?

2. Which container do you think contains the smallest amount of liquid?

3. What is the purpose of these containers?

4. Fill in the missing information.

a. b.
Capacity of jug: 4 litres Capacity:
Volume of liquid: 4 litres Volume:

10 91 92 18 194 96



Capacity: Capacity:

Volume: Volume:

e. f.

Capacity: Capacity:

Volume: Volume:

5. Answer the questions below:
a. What is capacity?e

b. Whatis volume?

continued @}
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6. Sort the containers into two groups: the ones you will use to measure litres and the
ones you will use to measure millilitres. Write the alphabet letter only.

Ii.- —'T b. r{'ﬁﬂ“ d. A e/'!\f' @%
i ! _— .
= | |
Y | J'I
h. - |
] fﬂ\i\_ 7. i Y i LQK A~
7 3 "('/ l;'l‘ '| k. 3
‘- % ' ’ ‘ | _| - § 1 i I._.
ut |
Millilitres Litres

7. What measuring unit will you use to measure:

a. Milk for a pudding
recipe

b. Water to fill a swimming
pool

c. Water to mix a packet
of powdered cool drink

d. Glass of water

e. Medicine for a baby

f. Water to water your
garden

10 99 92 198 194
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8. Cut out pictures from magazines, newspapers and advertisements.
Paste two or three pictures of each:

N
Containers that hold litres Containers that hold millilitres

\_ AN /

Filling the pool

A swimming pool holds 1 500 ¢ of water. How many 50 & buckets of water will you use to fill the pool?




d.
%—_ ]
T 3 hires i
- T _F-
1 litre . 4 . T B
! | - L
1 =+ & Gires -
1 + = 11 liires
T 1. T L I
. S— S
o T
4 5Eires ~ 10} lires
T L .
4+ Ziitres J
i. Whatis the capacity of each set of bottles?
Q. b. C. d. e
ii. How much cooldrink is there?2
Litres Millilitres Litres and millilitres Fraction
a.le 500 ml 12500 ml 3
b.
C.
d.
e

V&
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2. Complete the following table.

Litres Millilitres Litres and millilitres
1€ 350 ml =
= |32 80ml
2¢ = |28 755 ml
= |68 5ml
5¢ 65 ml =

3. Write the following as litres only (Remember you will need to round off to the
nearest litre.)

Example: 1 876 ml=2¢

a. 3 546 ml b.2876 ml C.9 234 ml

d. 6127 ml e. 8750 ml f. 2 500 ml
® 4. Write the following as millilitres only.

a. 4 ¢ 648 ml b. 62394 ml c.8¢732ml

4 648 ml

c.82732ml e.78912ml f. 12500 ml

5. Write the following as litres and millilitres.
a. 1543 ml b.2876 ml C.9234ml

d. 6 567 ml e. 8799 ml f. 7 500 ml

continued @
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‘ 67b9 Even more capdacily confinued

6. Look at the containers carefully and answer the question below.

4 N o~ N\
)
| .'I
\
A B C D
375 ml 250 ml 550 ml 750 ml

Use the letters A , B, C and D to arrange the containers from the one that holds the
least to the one that holds the most.

7. Solve the following problem:s:
a. Thabo mixes two 1 8 bottles of orange juice with two 750 ml bottles of apple
juice and two 1 % £ bofttles of lemonade. How many litres of the mixture will
there be?

10 99 92 18 194 U
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b. Rosie has a bad cough. Her mother buys a 225 ml bottle of cough syrup,
of which she drinks 45 ml a day. How long will the bofttle laste

c. Dumisani wants to make juice for his soccer team. He mixes a 2 litre bottle of
orange juice with four 2 litre bottles of water. How many litres of juice has he
made?

d. Sharon used 2 litres of water for making tea and coffee, 50 litres of water for
doing washing and 22 litres of water in her garden. How much water did she use
altogethere

7% 24 28 2B U D 29 )
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681’ Capacilty, mass and fractions
»

How much cool drink is in each jug?

1. Read the measuring jug and complete the table.

How many litres
are there in the Fraction

jug?
1,
4 litres 500 m 45 litre ?

Number of 500 ml
units




. Complete the table:

How many Fraction
kilograms? 500 g units
3 kg 500 1 7
3kg g g 3 5 kg
2kg 4kg
1kg 5kg
| ] 0,1.1,11, 221 331
Okgl. - lékg COUhi‘ ! 2' ’ 2 1 2, ’ 2
3 k
2kg 4kg
1kg 5kg
[ )
kgl boo Count
3 k
2kg 4kg
1kg 5kg
[ 1
okl _ b Count
2kg i 4kg
1kg 5kg
[ ]
okg. ! koo Count

We are friends

Find the friends ...

N[=

E?[ggm Ec:ﬂ
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1699 Equivalent fractions

Look at the fractions. Talk about them.

Halves Quarters Eighths

1. Write an equivalent fraction for:

1 1 6
CI.Z— b'E_ C'é_
2 2 2
dz— e.é— fé-
5 _ Ll 4 q
9.8— .8— .4—

2. Fillin<, > or =.

a.

1 92 18 14

(an\ .
18
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3. Complete the following using the diagram to guide you:

e |

L

1
a. One whole = 5 3

b. One whole =zlt b

1
c. One whole = 8 3

4. Draw a picture to solve the following:

(Poleso had 1 quarter of the cake, John had four eighths of the cool
and July had 2 eighths of the cake. drink and Ben had half of the cool
Who had the most cake? drink. Did they have the same

amount of cool drink?

Fractions in circles

Divide the circle into Show one quarter of the Show one half of the
eighths. P circle. circle.

16 18 17 96 99 20 20 22 25 24 28 W &



Look at the fractions. Talk about them.

Halves Thirds

. Write an equavilent fraction for each of the following.

1 o2
0.2— © B
1 2
d.g— e.i—
2 6
%3 ~ e T

.Fillin<, > or=.

o~ W (O IFN

Wl w

Sixths
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3. Complete the following using the diagram to help you:

|

e |

)

—

l-.____-..l'

+

NI —

a. One whole =

W] —

b. One whole =

1
c. One whole = 3 =

4. Write a word problem for each and solve it.

a. b.
Mother shared the
apple pie between
myself, herself and my
father. What fraction
did we each get?

~3=1
1+3=3

e
&

P

Three children have to share 12 oranges equally
so that nothing remains.
How many oranges will each child get?

Thinking fractions

You might need to make a drawing to help you
to solve this.
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7 IQ Even more equivalent fractions
»

Talk about these yellow whole squares and the fractions.

A 4
A

1. Use two yellow squares as the whole. = 1 whole

a. The yellow square is what part of the whole?

b. The red rectangle - is what part of the whole?
@
c. The blue triangle is what part of the whole?

d. The green triangle h is what part of the whole?¢

2. Answer these questions.

a. How many green tfriangles are in one blue triangle Ae
b. How many green friangles are in one red rectangle -2

c. How many green friangles B are in one yellow square

O 9 2 8 4 B v 8 8 10 91 92 18 94 16



@, |

- O . -
y e
, "

d. How many blue ’rrionglesAore in one yellow square
e. How many red rectangles - are in one yellow square

3. Draw the missing fraction pieces.

- =
.. N -
| - A T
- .
- B - ='+

Make my own sums

Make five of your own sums using the shapes on the left.
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72“ Comparing, ordering and adding
fraclions

What fraction of the diagrams below has been coloured?
What fraction of the diagrams below has not been coloured?

%

1.Filin>,<or=.

a. 1 1]k (s 5] 2 1
3l 14 T 5L 12
1 1 1
C. 4 2 d sl sl 3 1
7 5 % 6 2
e. 20 | [ 12 ®
S [ :] S0

2. What fractions are shown by the arrow?

\/

< | | | | | | | | | |
a. = | | | | | | | | | |

0 ﬁ 1

8 ©® 10 94 92 98 94 6
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3. Write a sum for the number lines below and calculate the answers.

< | | | | | | | — - =
a. = 8 ~ 8

| | | | | | | | g g t
0 1
0 1

0O
A
\4

Q
A
A\

Y

4. Draw number lines for the following sums.

1.2
a. 3 * 3 =
< | | o
- >
0 1
.1
b. 7 + 3 =
<« | |
] >
0 1

Problem solving:

A chocolate cake is cut into 30 pieces. If a fifth has been eaten, how many pieces are lefte

18 18 17 18 190 20 21 22 23 24 28 23 7/
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‘1 1 31’ Addition of fractions
Talk about these fraction circles.

O v virlw

s 233 I IR JIR A
:%+D+D+D+D+D

2 25 IR IR IR IR ARl q

A A A A A[]-A[]-A]]-A[]
Which is greo’rer,% or ‘7 2 &

2. Challenge: Draw fraction circles to show the following:

Q.l+

1
4 4

+ + + =1 whole

2
=1 whol . =
whole b 5

w|—

1 1
2 3

® 10 91 92 18 94 6



3. Use the diagram to complete the sums.

1 ]
d 56" €. 5 +t5= f tg =

4 3 3 2 1 4
9-g*g " h. 5 +5= L 2t3°

4. Atthe party | had 3
of the cake and my
friend had 3. How
much cake did we
have altogether? Make
a drawing to show your
answer.

Make seven sums using the colours on each fraction strip.
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( ‘y More addition of fractions

"

What is each picture telling you?

P

1. Write the following as mixed numbers:

=
Yy
.
0.
=9

Think carefully
wnh the next two.

We say that ’
these are mixed
numbers.

r'Y)
&<
>3
\ A
IZS

8 O 90 99 92 98 94 9%




2. Calculate the following.

O. 2 2
6 6
b. l l
3 3
C. 1 1
3 3
d. 2 1
4 4
e. l 2
4 4
f. 1 3
5 5
9 2 3
6 6
h. 4 2
8 8
R 1 3
6 6
i 3, 2
8 8

Make a sum for each diagram.

Thinking fractions

-
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17 59 Fraction problems
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1. Colour the following on the picture above:

One quarter of the red window.

Two quarters of the purple window.

Three quarters of the orange window.

One quarter plus one quarter of the green window.

Two quarters plus one quarter of the yellow window.

Two quarters plus two quarters of the brown window.

One fifth of the first tree light green and the rest dark green.

Two fifths of the second tree light green and the rest dark green.

One fifth of the third tree light green, two fifths dark green and the rest yellow.

S@ ™0 a0 T

j.  Three fifths of the fourth tree green and the rest yellow.

Colour the fifth tree and explain it here.

8 © 10 911 92 98 914



2. Look at the train in the picture on the previous page and
answer the following:

a. How many passenger carriages does the train have?

b. What fraction is yellow? Orange? Red?

c. The wheels are divided into parts. Write one part as a fraction.

d. Each passenger carriage has windows. Write one window as a
fraction.

e. Colour in two sixths of the yellow carriage windows, four sixths of the
orange carriage windows, five sixths of the red carriage windows.
3. Answer the questions on the small frucks.

a. How many boxes are on the blue truck?e What fraction is yellow?

What fraction is blue? What fraction is brown?¢

Write an addition sum for it:

b. How many boxes are on the red truck?

What fraction is pink?e What fraction is blue?

What fraction is brown?

Write an addition sum for it2

My own questions

Look at the pictures and make your own fraction questions. Remember it should be different from
the questions in this worksheet.

s

.

-
There is an open space on the picture on the previous page (page 26). Draw something that will fit
\inio the picture and then write a fraction question for it.

15 18 17 18 10 20 21 22 23 24 26 26 2/ 20 20
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1761’ Numbers 0 - 5 000

Read the comic strip.

12232

1. Find items advertised for about R4 000. Paste a picture here.

2. Calculate:

a.1 1000 |+| 500 |+|90 [+ 3 =

.1 2000 (+|300 [+ 40 |+ 1 =

c.| 3000 |+ 800 |+ 20+ 9 =

d./1 4000 [+ 90 |+ 3 =

.| 4000 700

1 2 38 4 8 @ 7 8 © 10 99 12 18 94 A&



a. 2000 +600+30+ 9=

. 4000+ 50 + 1 + 400 =

c. 2+90+800+ 1000 =

3. Calculate the following:

d. 4000 + 50 =

e. 2000+ 2=

4. Change the digit 5 to zero in each number. Show your operation.

a.

b.

S,

d.

e.

5. Use any digits to make different 4-digit numbers smaller than 5 000 but bigger
® than 2 000. Say if the number is odd or even. We did the first one for you

i

a.

b.

4854 =

3521 =

2005 =

6050 =

5000 =

4789 odd

6. Write your answers to question 5 from the

biggest to the smallest number.

Take a newspaper.

Find some 4-digit
numbers that are
bigger than

2 000 but smaller
than 5 000. Paste

them here.

Number madness

15 18 17 18 19
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1 79 Rounding off to the nearest | 000
y o

Which would be easier to say?

=

1. Between what two thousands are:

a. 1234 b. 3890
C. 2478 d. 8932

. 432 f. 932

e. 4329 9323 ®
g. 6173 h. 5984
i, 7394

2. Give any number between.

a. 2000 and 3 000 . 4000 and 5 000
c. 3000 and 4 000 d. 8000 and 9 000
e. 1000 and 2 000 f. 5000 and 6 000
g. 6000 and 7 000 h. 7 000 and 8 000

3. Go back to the numbers you wrote in question 2. Underline the number that is
closest to your answer.

Example:

2 000 and 3000 | 2387

@ 9 2 38 4 8 B ¥ 8 © 10 99 12 18 914 dE



4. Round off to the nearest 1 000. Circle the number which you
look at when deciding whether to round up or down to the nearest 1 000
Complete the sentences.

a. 2()00is between| 2 000 |and| 3 000 |and would be rounded to |2 000
b. 3400 is between and and would be rounded to
c. 1900 is between and and would be rounded to
d. 4700 is between and and would be rounded to

5. Round off to the nearest 1 000. Circle the number which you look at when deciding
whether to round up or down to the nearest 1 000. Complete the sentences.

a. 20150is between| 2000 |and| 3000 |and would be rounded to|_2 000
b. 4490 is between and and would be rounded to
c. 3680is between and and would be rounded to
d. 1450is between and and would be rounded to

6. Round off to the nearest 1 000. Circle the number which you look at when deciding
whether to round up or down to the nearest 1 000. Complete the sentences.

a. 3@12is between| 3000 |and| 4000 |and would be rounded to|_3 000
b. 2623 is between and and would be rounded to
C. 4499 is between and and would be rounded to
d. 1507 is between and and would be rounded to

Maths artist

You want to explain to your friend,
who was absent from school, what
rounding off means.

Make a drawing.

15 18 17 18 19
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78a Addition and subtraction up to U-digit
y QB unbers breakingad oIl DI

How fast can you calculate the following?

7000 + 300 +40 + 6 = 9000+80+2=
4000+90+3= 5000 +4=
8000+ 100+7= 6000+200+80+5=

1. Write the following in expanded notation.

a. 1256 b. 8105
c. 5085 d. 9 450
e. 6 001 f. 8020

2. Calculate the following.

a. 5+7= b. 50+70= c. 500 + 700 =
d. 4+9= e. 40+ 90 = f. 400 + 900 =
9. 6+7= h. 60 + 70 = i. 600+ 700 =

3. Calculate the following.

a. 9-4= b. 90-40 = c. 900 -400 =

d 5-2= e. 50-20= f. 500-200 =

9. 7-3= h. 70-30= i. 700-300=
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4. Calculate the following. We did the first one for you. 3

Use extra paper if you need to.

Q.4898 +3 141 = b.6967 +2052=
4000 + 800+ 90+ 8+ 3000+ 100 + 40 +1
=4000+3000+800+100+90+40+8+1
=7000+900+ 130+9
=7000+900+ 100+ 30+9
=7000+1000+30+9
=8000+30+9
=8039

X

L

C.6442+ 1394 = d.3467 +4292=

e.8578+1262= f. 8258 + 1869 =

continued @
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7819 Addition and subtraction up to u-digif
y QB unbers breakingad oIl DI

Jeniinted
5. Calculate the following. We did the first one for you.
a.8445-4372 = b. 46241482 =

(8 000 + 400 + 40 + 5) — (4 000 + 300 + 70 + 2)
= (8 000 — 4 000) + (400 — 300) + (40 — 70) + (5 - 2)
= 4000 + 100 + (40— 70) + 3
= 4000 + (140 - 70) + 3
= 4000 + 70 + 3
= 4073
C.8546- 57283 = d. 5348-2195=
@
.9 434- 6591 = f.3358- 1477 =

6. Solve the problems by identifying the questions, the numbers and the operations
(addition or subtraction); then make a drawing if necessary and write down a
number sentence. Use an exira sheet of paper if needed.

a. My father bought a television set for R4 550. My mother bought a television
stand for R3 250. How much did they pay altogether?

10 91 92 18 194 96
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b. My uncle travelled 3 520 km through Africa on a safari. His friend
travelled 5 659 km on his safari. How much farther did my uncle’s friend travel2 "

c. The tank holds 4 500 litres of water. The community used 1 950 litres. How much
water is left?

d. My mother used 1 550 grams of flour for all the cup-cakes she baked. My sister
used 1 800 grams of flour for all the muffins she made. How much flour did they
use togethere
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Look at each line.

4358 +2 000 = 6 358 6358 -2000 = 4 358
6358 + 300 = 6 658 6 658 - 300 = 6 358
6658 + 20 = 6678 6678 — 20 = 6 658
6678 + 1= 6679 6679 -1= 6678
What do you notice? What do you notice?

1. Calculate the following.

a. 5354 +2000 = b.8 663 + 200 = C.2945+ 40 =

d.4263+20= e. 3748 + 5000 = f.5368 +3 =

2. Calculate the following.

a. 5492-200 = b.3 947 -1000 = c. 8687 -500 =

d.8635-20= e. 38 473 - 400 = f. 6 342 -3 000 =

3. Complete the table by adding or subtracting to or from the number in the first
column.

Add | Subtract| Add Subtract Add | Subtract | Add 1 | Subtract
1 000 1 000 100 100 10 10 1

8 ©® 10 94 92 98 94 6
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4. Add the following by breaking down the number to be added.
Example: Adding by breaking down the number to be added

Calculate 5 362 + 2 486
5362+2000—>7362+400—>7762+80—>7842+ 67848

a. 3459 +2320=

b. 5§296+2312=

c. 8875+1187=

d. 8764+ 1586 =

5. Subtract the following by breaking down the number to be subtracted.

Example: Subtracting by breaking down the number to be subtracted

® Calculate 4 687 -2 143
4687 -2000—>2687-100—>2587-40 > 2547 -3 =2 544

Q. 7834-3512=

b. 8274-3843 =

c. 4322-1188=

d. 7546 -4657 =

Check your answers

Check all your answers in question 4 and 5 by doing the
inverse operation.

15 18 17 18 19
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Addition and subtraction up to U-digit numbers:
80 filling up tens by breaking down the numberdie

Revise the difference between rounding off and filling up the tens.

Round off the following to the: Fill up the following:
Nearest ten Tens
14=10 14+ 6=20,123+7=130
28 = 30
Hundreds
Nearest hundred 130 + 70 = 200, 1 450 + 50 = 1 500
135= 100
564 = 600 Thousands

1800 + 200 =2 000, 3400 + 4600 =4 000
Nearest thousand
1257 =1 000
5616 =6 000

1. Round off the following to the nearest 10, 100 and 1 000. Underline the digit that will
help you to round the number to the nearest 10 or 100 or 1 000. We did the first one
for you.

Nearest 10 Nearest 100 Nearest 1000
a.3 184 3184 =3180 3184 =3 200 3184 =3 000

b. 6758
c. 4390
d. 4 402
e. 8999

2. Fill up the tens, hundreds and thousands.

Fill up the tens Fill up the hundreds | Fill up the thousands
a. 3524 3524 + 6=3530 3524+76=3600 | 3524+ 476=4000
b.5132
c. 1213
d. 8 458
e. 4199

8 0 90 99 92 18 94 &



3. Calculate the following.

Filling up the tens
Calculate 2 486 + 48
2486 +48

=(2486 +14)-14 + 48
=2500 + (48 -1 4)

=2 500 + 34
=2534
Q.2345+72 = b.6872+34 =
C.5676+96= d. 6567 +47 =
®
e.4536 +89 = f. 8671 +51=

Check your answers

Check all your answers in question 3 by doing the inverse operation.

15 16 97 90 99 ! 2 2B B 24 2B B W



What is the difference between the numbers? Count forwards.

SN N NN

) | | | i
0 1 000 2 000 3 000 4 000 5000
2 600 2700 2 800 2900 3 000 3 100
500 1 000 1 500 2 000 2 500 3 000
109 1109 2109 3109 4109 5109

\_/\_/\M/

What is the difference between the numbers? Count backwards.

1. What number comes nexi?

a. 1000, 2000, 3 000, . 3300, 3 400, 3 500,

C. 689, 1689, 2689, d. 2760,3760, 4760,

2. Complete the table by adding or subtracting to or from the number in the first
column.

Number Add 100 Subtract 100 Add 1 000 Subtract 1 000
3212
2910

3106
1 069
2989

3. Estimate the answers to these sums and write them on a separate piece of paper.
Then calculate these sums writing the steps you use as shown in the two examples.
Use a separate piece of paper. Then compare your estimation and calculation.

8 0 90 99 92 18 94 &



Examples:

Example 1:

1256 +1323 | 1000

200 | (50| 6 | 1000 || 300

20

=1000+1000+200+300+50+20+6+3

=2000+500+70+79
=2579

Example 2:

2459+1816 | 2 000

400 | |50 | ¢ 1000

800

10

=2000+1000+400+800+50+10+92+56

=3000+1200+ 60+ 15

=3000+1000+200+60+10+5

=4000+200+70+5
=41275

a. 2481 +1318=

b. 1516 +3243 =

c. 3265+1329=

d. 2548 +1 264 =

e. 1458 +1 258 =

f. 1786+2547 =

4. Complete the word problems. Show your calculations.

a. There were 75 children in the music lesson, 15 went home early and 3 went to
soccer lessons. How many children were left in the music lesson?¢

b. Andile collects 2 283 cans for recycling in the first month. He collects 3 325 cans
in the second month. How many cans did he collect altogether?

| dropped my puzzle pieces.

Help me to fill the spaces so
that each row and column
adds up to 15. You can only
use each number once.

18 18 17 18 19

| dropped my number puzzle.
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Look at the pictures. What does front, side and top mean?

a N a I
top

i front

I

front

\

1. Complete the table by drawing the side, front and top view of each house.

/AN /

Picture Side view Front view Top view

[y

0
I}
S

1 12 18 94 16



2. Name the following views:

a N

[ |
M
= =

Where is the person standing?

Where do you think the person stood when he or
she took the photograph?

In which direction was the photograph taken2

16 18 17 18 19 20 21 22 25 24 28 258 2 2



Here are the six faces of a cube: Can you deduce where the faces

are in relation to each other and

‘ . record them on the net of the
cube®?

Here are three views of the cube:

S LD

1. Complete the table.

Picture Side view Front view Top view

'
'
Lo

® 9 2 8 4 B v 8 8 10 91 92 18 94 16




2. Name the following views of the blocks:

4 4

\

o

/
\
/
.

A
N7
A

What view of the child do you see?

AV

/
\ .
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84 Polygons and circles

»

Look at the picture. Identify all the polygons. Identify a shape that is not a polygon.

VZ- 4

JoR

1. Look at the picture
above. Draw an
example of each of
the shapes with straight
sides. Name the
shapes.

2. Under each shape
write how many sides
the shape has.

3. Look at the picture. Draw the shape with curved sides. Name the shape.

4. Add 5 polygons to the picture above.

© 9 2 8 4 8 6 ¥ 8 0 10 94 92 18 94 9k



5. Look at the picture. Write the alphabet letter of the shapes on the picture. For
example for square shapes put the letter a. Complete the table.

® Shape Number of sides Straight or curved sides

Square

b. Hexagon

c. Circle

d. Triangle

e. Rectangle

A Shape animal

Draw your own
animal using
various shapes.

15 18 17 18 19
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2-D shapes

%
®

1. Complete the shapes by drawing a side or sides.

Name the 2-dimensional shapes. Say if the shapes have straight or curved sides.

Triangle / Square |

@
Pentagon Hexagon
Triangle Square

Pentagon

Hexagon

® 10 91 92 18 94 6



2. Circle the octagons.

Of/@r+mn

3. Colour the pentagons blue.

LIQGVOM

4. Draw the following in the table.

a. Two quadrilaterals

b. Two pentagons

c. Two heptagons

5. Use only quadrilaterals, pentagons and hexagons to draw a 2-D representation of
any building.

continued &

4
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85b 2-D'shapes continued

»

Using grid paper is an easy way to draw perfect, geometric shapes and diagrams.

6. Use aruler and the lines on the grid paper to draw the following. Use extra grid paper if

you need to.
a. Small and large triangle b. Small and large square
c. Small and large rectangle d. Small and large pentagon

e. Small and large hexagon

7. What is the area of each shape?

a. small triangle: )

large triangle:

b. small square:

large square:

c. small rectangle:

large rectangle:

d. small pentagon:

large pentagon:

e. small hexagon:

large hexagon:

1 2 8 4 5 6 7V 8 © 10 99 12 18 94 16



8. Circle the closed shapes.

D O

2 7 (®

9. Circle the shapes with straight sides only.

— xlln oo

10. Draw the following shapes.

a. Two closed shapes
with curved sides only

b. Three closed shapes
with straight sides only

c. One open with curved
and straight sides

How many shapes ?

How many shapes can you make with these sticks? Name them.

15 18 17 918 19 20 21 22 Z3 24 28
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1. In groups of six you will do the following activity. Your teacher will keep time. Write
your results in the table below.

How many times can you skip in one minute?

Name Skips in one minute

You can make a
skipping rope by @
tying old plastic
shopping bags
together. r

2. Write five questions on the data you have collected.

52

“» 9 2 8 4 8 6 ¥ 8 0 10 91 92 18 194



3. Each person in a group of six tries to balance on an object.
Your teacher will time you to see who can stay the longest
on the object. Organise and record your data.

Name Time

4. Write five questions on the data you have collected.

Fitness survey

One of your friends told you that children in your
school doing sport are more healthy.
How do you think she knows this?

16 17 98 190 20 21 22 238 24 28 25

— o —



<)

87 Mere on dafa

»

How many cell phones did the shop sell?

1. Complete the frequency table on coloured cell phones.

Red cell phone

Blue cell phone ®

Green cell phone

Yellow cell phone

2. Use the table above and draw a pictograph.

2

G 7 8 © 10 91 12 198 94 9k
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Number of cell phones

4. Complete the following questions:

a. How many yellow cell phones have been sold?

b. How many red cell phones have been sold?

c. How many blue cell phones have been sold?

d. How many green cell phones have been sold?

e. What colour phone was the most popularg

f.  What colour phone was the least popular?

g. Why do you think green is the most popular colour?

Cell phone hunt ...

How many cell phones can you find?

15 18 17 18 10 20 21 22 23 24 26 26 2/ 20 20



take-aways on the map.

Type of Restaurant

Total

1. Write down all the types of restaurants/ 2. Design a food picture that you will use

in your pictograph.

Hamburger places

Chinese

Steakhouse

Roadhouse

Health food

Fish

Take-aways

Pizza

Hotel

(s @, P A B B (3, G W

®

5

6

=y

L

8 © 190 94

12 18 14 9k




3. Show the numbers of the different types of restaurants in a
pictograph using the food picture you designed.

* & 4 & %

4. Answer the following questions.

a. How many hamburger places are there?¢

b. How many take away places are there?

c. How many restaurants are there in total?

d. Which is the most common type of restuarant?

e. Which is the least common type of restuarant?

Favourite restaurant L CE}

Find out what is the favourite restaurant amongst the

JD .
learners in your class. E:;) i f

16 17 18 10 20 21 22 28 24 26 25 Z/ 25 20
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89 Pictographs and bar graphs
»

)
[;} [ ! G
e ;' E b

i 350 m¢

500 me¢

- J
®

1. Answer the following questions:

a. What are you going to collect?2

b. How will you do ite

. How will you organise your data?

8 0 90 99 92 18 94 &



2. Draw a pictograph.

3. Draw a bar graph.

| think about data.

Decide on five questions you will ask about the bar graph.
Write a short paragraph on the data collected on a
separate sheet of paper.

18 416 17 18 10 20 21 22
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Pata cycle

»

Bags of waste collected in our school.

Week Monday Tuesday Wednesday Thursday Friday
U M U THCH.
Week | M F-J\kl\.!—J \"*J\"JL_J. iL.J \ LB &i_i\h F_J\ i '“—-JM'{'
= m mi| LB ml (m)
A AR A
%Hﬁ w5 ArgL tﬂ\ t'li R
Week 2 sutul VR LS ALY
| @ W = CROR
- ] AA LA
Week 3 ti’; M%ﬂ 9 {-!’3 t‘ﬂ o iy @)
a @ @) - 3
Week 4 ky%t{\ tfkh u;’ihﬁ A Hﬁ Pi’ﬁ \t’j g-.l E-_i,’l;
t"j l g,itiﬂj ) = LY '
MU A A N . ®
Week 5 'JLJ_:_J\ j 2 W‘ _\J b_"lﬁ ) r:i;lf!“!\}._ﬂ. *@ﬂ Pi‘l
AR ) LB B )

1. Draw a pictograph using the information above.

® 10 91 12 18 94 &
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2. Draw a bar graph based upon your pictograph data.

3. Answer the following questions:

a. How many bags of waste did we collect in

week 12 week 22 week 32 week 42 week 52

® b. During which week did we collect the most waste?

c. During which week did we collect the least waste?

d. What do you think happened on Friday?

Waste management

How many waste bags or dustbins does your
class fill with rubbish each day?

6 18 17 18 10 20 27 22 23 24 28 26



These bins
filled with
waste were

91 Pie charts
collected

after a H HEHHHHHH
sports day
at School A. ..
Why do you
think there
wassomuchl l ' I I I .
waste?
| U |

1. Use the given information to draw up a frequency table of the different bins of
waste.

2. Write four sentences on the waste created during the sports day.

Example: There were eight bins full of paper waste because a lot of food was wrapped in
paper or cardboard containers.

8§ B ¥V 8 0 90 99 92 18 94 &



3. Another school, School B, also held a sports day. To represent the :
waste collected they drew a pie chart. They forgot to give it a heading.
Add a heading.

m Plastic
B Paper
Glass

B Metal

a. How many waste bins of glass did they collect?

b. How many waste bins of paper did they collect?

c. How many waste bins of plastic did they collect?

d. How many waste bins of metal did they collect?

@ e. Compare school A's results with school B'se

f. Why do you think school B collected so much plastice

g. What will you do with all this waste?2

h. What type of waste did they not collect?

i. What will you do with this type of waste?

Mandela day:

As part of Nelson Mandela’s birthday we give 67 minutes of our tfime to take action to help change the
world for the beftter. This year the school wants to make big changes starting with the school grounds.
What will you do? How will you collect the data?

N/

16 18 17 18 190 20 21 22



Describe all the patterns.

/N
()

1. Complete the pattern

GAAAAAAAAAAAAAA

AN

1/ [3] /4 @ o\| 7 |/8\||9 (A0
X ‘ % ey

1 213 Aal(1s]) A8 17 148l 19 ((20)
: x N

21 23 ék\@ 27 29 (40
: x |

31 33 @é%\ 37 39|(/40\)
~ ‘ X )

41 |/a| 43 | /4 ((45)) /b, 47 |/a8l| 49 (/50,)
el o

51| 52| 53 /62\@ 58, ||57 59 |(60.)
: x A |

61 | 6| |63 /6 6| 67 | 68\ (69170
A . A Lﬁé

71 [172| 73 75 77 |178|| 79 (80
: X |

81 83 /éZ\ 87 89 (/éé\)
(/otl)

b.

@@@QQQQQQQQQQ

520 | 530 540

- @ @@ OO OO0

250

f.

300

350

2. Complete the pattern.

o@@@AAAAAAAAAAA

b.

@@GQQQQQQQQQQ

3

1

1 92 18 94

®



d.

. Fill in the missing numbers.

. Fill in the missing numbers.

What will the missing numbers be?

" 0 0 0 T Q

0 00 T Q

480 | 470 460

e. 25 100y (575 {_ I I I A A ™

650 || 600 || 550

100, 102, 104,
156, 159, 162,
285, 290, 295,
100, 110, 120,
175, 200, 225,
150, 200, 250,

86, 84, 82,

111,108, 105,
625, 620, 615,
260, 250, 240,
475, 450, 425,
950, 900, 850,

18 416 17 18 10 20 21 22
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2. Complete the table.
Q.

+1 +1 +1 +1 +1 +1 +1 +1 +1 +1
NN NN NN NN N

x 4 4

8
NP NPT NPT NT NN

+4  +4
EEEEENN

2 YafoeTaTeaTaTa®ala"

-3/ | | | | | | | | |
A A VA YA YA YA VAV,

e fteoalfleltTealtTealtTeealeVPa'

2 I N N N N
AV Y ATV A VAT

® EEEEEEENR

222 Tafealea¥alaleale

8| 0 | | | | | | | |
O R L LY A LV L v IV,

Create a table

Create your own tables like the ones above.

B

15 418 17 18 10 20 21 22 23 24 28 238 7/ 26
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’ 94 Flow diagrams: input and oufpul
»

How fast can you calculate the output value?

Input Output

A flow diagram is balanced when
1 the input (as changed by the rule) is

equal to the output.
& Rule 4 q p

P
An important fact about the rule is
that the order of operations may not
be changed!

1. Complete the flow diagrams.

a. b.
Input Output Input Output

1 8

2
)

O (N[O W
v
o
+
w
=S

—_
—_

N\

8 0 90 91 192 18 94
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2 [0 Ree 7]
3 o %6 1 +2 >
P Sa 26
5
i
Input Output
12
0, e [
> x7 = +5 | 40
- Y
68

2. Complete the flow diagrams.

a.

b. Therule is x 3 + 1 and the output values are 10, 19, 28, 37 and 4é6.

Input

Output

The input values are 2, 4, 6, 8 and 10. The rule is x 2 + 2.

Input

Output

16 18 17 18 19 20

-

4 34
2 |\, PMEE
6 |~ = > | 50
s |7 x| 66
3 26

7 N U
o e || 48

s |7 a
Input Output
42
. R [w
> +5 = x7 p| 54
> Sa 63
70




What is the difference between the two tables?

8000 + 200+ 30 + 4 = 8 234 4 948 = 4000 + 900 + 40 + 8
5000+ 100+80+5= 5185 7 503 = 7 000 + 500 + 3

9 000 + 300 + 70 = 9370 3097 = 3000+ 90 +7

6 000 + 500 + 4 = 6 504 6 601 = 6 000 + 600 + 1

7 000 + 400 = 7 400 5004 = 5000 + 4

1. Calculate the following.

a.3000 + 80 = .7000+ 100+ 70+ 4=
Cc.4000+7 = d. 5000 + 90 =
€.8000+500+20+8= f. 9000+ 2=

2. Write the following in expanded notation.

a. 7483

b. 8425

c. 3672

3. Calculate the following.

a.8+4= b.80 + 40 = c. 800 + 400 =
d.é6+7= e.60+70= f. 600 + 700 =
g.7+5= h.70 + 50 = i. 700+ 500 =

5 O 90 99 92 98 94 4
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. Calculate the following.

> B o
Il

::"_E

e |

L

c. 500 - 300 =

f. 700 - 200 =

a.5-3= p.50-30=
d..7-2= e.70-20=
9.9-6= h. 90 - 60 =

i. 900 - 600 =

5. Calculate the following using both methods.

Example:
Method 1:
Calculate: 3791 + 4145

3791 +4145
=3000+700+90+1+4000+100+40+5
=3000+4000+700+100+90+40+1+5
=7000+800+130+6
=7936

a.3211 +3494=

Method 2:

1+5=6

90 + 40 =130

700 + 100 = 800
3000 + 4 000 =7 000
3791 +4145=7936

. 6439 + 1290 =

continued &
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‘ 9511» Addition and subtraction: breaking
down_numbekSyceniinted

c. 1469 +5270=

6. Calculate the following.

Example:
Calculate: 8 787 — 2 493
8787 -2493
= (8000 + 700 + 80 + 7) — (2 000 + 400 + 90 + 3)
= (8 000 + 600 + 180 + 7) — (2 000 + 400 + 20 +3)
= (8 000 — 2 000) + (600 — 400) + (180 -90) + (7 -3)
=6000+200+90+4
=6294 )

0.8874-3412= b. 6543 -3 281 =

® 10 91 92 18 94 6



C.92269-6189 = d. 5444 -2999 =

9

> B o
Il
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e |
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—
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Problem solving

Solve the problems by identifying the questions, the numbers and the operations (addition or

subtraction); then make a drawing if necessary and write down a number senfence.

My mother bought a lounge set for R5 450. My father bought a bedroom set for R4 250. How much

did they pay altogethere

My brother travelled 5 320 km through Africa on his vacation. His friend travelled é 595 km on his

vacation. How much farther did his friend travel2
The water tank holds 5 400 litres. Our household used 2 590 litres. How much water is left2

lused 1 630 kg sugar in my bakery in January. In February | used 2 800 kg. How much sugar did | use in

the two months?




Add the following:

Subtract the following:

5649 + 3000 = 5649 -2000 =
8617 +200 = 3617 -300 =
8 536 + 50 = 35836-10=
8728+ 1= 3728-5=

What do you notice?

1. Calculate the following.

What do you notice?

a. 9 534 + 200 =

. 6543 + 20 =

c.3796+ 1000 =

d.2014+2=

e. 8591 +4000 =

f. 5699 + 500 =

9.4512+2000 =

h. 1853 + 400 =

2. Calculate the following.

a.7 169 -100 =

b.4976-50 =

c. 6789 -3000 =

d.3135-1000 =

€.2579-4=

f. 8 646 — 500 =

9.6825-10=

h. 8839 -30 =

3. Complete the table by adding or subtracting to or from the number in the first

column.
Add | Subtract Add Subiract Add | Subtract | Add 1 | Subiract
1 000 1000 100 100 10 10 1

8 © 10 99

12 18 14




4. Calculate the following by breaking down the number to be added.

dni o)

Example: Adding by breaking down the number to be added

Calculate 4 658 + 3 271
4 658 +3000—>7658+200~>7858+70—~>7928+ 17929

a. 3874+2215=

b. 6313+2847 =

c. 5322+3729 =

d. .7556+1876=

e

¥

5. Subtract the following by breaking down the number to be subtracted.

Example: Subtracting by breaking down the number to be subtracted

Calculate 6 478 — 3 235
6478 -3 000 >~ 3478 -200 > 3278-30 >3248-5—>3243

a. 3275-1434=

. 8745-4 672 =

c. 5432-2874=

d.8159-3754=

Sum problems

What is the sum of R2 999 and R3 5342
What is the difference between 4 738 m and 8 735 m?¢
What is the sum of 4 983 g and 3 982 g2

What is the sum of 4 983 km and 4 894 km?

18 18 17 18 19

20

21 22 728

260270828% - 30
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Talk about this.

How much do |
still need?

It costs R100. | have R50 in
my savings account.

| also sold some old toys

for R30.

1. How much money do you have left?

a. I'have R%0. | spend R40.

b. I'have R120. | spend R50.

c. I'have R100. | spend R50,50.

d. I'have R60,75. | spend R20. @

e. | have R80,50. | spend R20,20.

2. Complete all the calculations in each of these flow diagrams.
In the first example, | have R100, | get R30 more, | spend R20, and | then have R110 left.

® 10 91 92 18 94 6



115

3. Ann earns pocket money once a month.
Her parents encourage her to keep a budget.

Sept | Money | get Money | spend Money left
1 Pocket money R50,00 R50,00
5 Tuck shop R10,00 R40,00
6 Extra chores R30,00 R70,00
15 Birthday present R40,00 R110,00
18 Book R30,00 R80,00
22 Extra chores R30,00 R110,00
24 CD on special R60,00 R50,00
28 Gift for friend R30,00 R20,00

a. How much money did Ann get on the 1st of September?
b. How much did she spend on the 5th of September?
How much money is left?
c. Did she get or spend money on the éth of September?
How much?
d. Whenis Ann’s birthday?
How much money does Ann have now?
e. What did Ann do on the 18th of September?
How much money does she have lefte
f. How much did she earn on the 22nd of September?
What did she do to earn it?
How much money does she have left?
g. What did she buy on the 24th and 28th of September?

h. How much money does she have left for the monthe

16 17 18 19

How much money does she have left?

How much money did she get?

What can she do with the left over money?2

272

7 24 28 A3




What comes in s. Look at the pictures and discuss it.

o % U
e

How many eggs will 7

1. Answer the following orally:
How many wheels How many fingers will
will 5 cars have? Let . 10 hands have? Let

uscount4,8,12, ...

half dozen boxes hold?
us count ...

How many small squares

How many days will How many legs will
be in 8 weeks? 9 spiders have? will be on 5 "Noughts
Let us count ... Let us count . .. and crosses boards™2

Let us count ...

2. Colour the multiples of

4 blue r

5red

x 1 2 3 6 8 9 10
1 1 2 3 6 7 8 10
2 2 4 6 10 12 14 16 18 | 20
3 3 6 9 12 15 18 | 21 24 | 27 | 30
4 4 8 12 16 20 | 24 28 | 32 36 40
5 5 10 15 20 | 25 30 | 35 40 | 45 50
6 6 12 18 | 24 30 36 42 48 | 54 60
7 7 14 | 21 28 | 35 42 | 49 56 63 70
8 8 16 24 | 32 40 | 48 56 64 72 80
9 9 18 | 27 | 36 45 54 63 72 81 90

v 8 8 10 91 92 18 94 16



continued &

i

22

21

9

it

3

a. Multiples of 2
b. Multiples of 5
Cc. Multiples of 3
d. Multiples of 4
e. Multiples of 6

3. Complete these patterns.

a. The multiples of 2 are 2, 4, 6, 8, 10, 12,
b. The multiples of 3 are 3, 6, 9, 12, 15, 18,
4. Complete the patterns.

5. Show the following on the number lines.

16 17 i«
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